Walco

EQUIPMENT LTD.

HEAD OFFICE 20 ARTHUR STREET NORTH, ELMIRA, ONTARIO N3B 179

TEL: (519) 669-4025 FAX: (519) 669-1436
ORDER DESK e-mail: orders@walcoequipment.com

TEL: (519) 669-1401 FAX (519) 669-3499
QUEBEC OFFICE 364 RTE.122 ST.GERMAIN DE GRANTHAM, QUEBEC JOC 1KO

TEL: (819) 395-5115 Fax (819) 395-2624

e-mail: walcogc@walcoequipment.com

S-TINES

ITEM # DESCRIPTION

200001 3210560

200002 3212560

Standard S-Tine 32 x 10 x 560

£
Heavy Duty S-Tine 32 x 12 x 560 EE

- STAMDARD 3-TINE
ORDER #3210560

Specifications

13 mm - 364

a2 mm - 1.25"

560 mm - 22.00°
Weight: 27 kg - 595 |be.

200003 3212660

200004 4512660

High Clearance S-Tine 32 x 12 x 660

Heavy High Clearance 45 x 12 x 660

(BT

342 mm

. 342 mim = 1346
8

POINTS

200005 4062090
200025 6063716

HEAWY DUTY TINE

200039 302005
200040 302025

Duck foot Point 2-3/4 X 6mm 10mm hole

SED mim
200

T ORDER #3212560

) Specifications
Reversible 42 x 209 x 6 1/4" 12 mm - 472
i " 32 mm - 125"
Reversible 60 x 260 x 6mm 1/4", 7/16 hole - e
S60 mm - Z2.00°

Duck foot Point 2-3/4 x 4mm 10mm hole ] Wheight: 3,42 kg - 7.14 Ibs.

HZ mm
1348°

Sweep, 4" X 6mm 1/4" -+
Sweep, 10" X 6mm_1/4" i A HIGH CLEARANCE TINE
OADER #3212650
Specifcabions
12 e - 472"

200028 2346000-716 Sweep, 2-3/4" X 6mm 7/16" hole ’ 32 mm - 1,25"
443 mm - 17.40°

CLAMP lor 257 x 4 00" bar
ORDER #1010024

CLAMP for 25" & 4.00° bas
feor Blper spring
OROER #1000024

CLAMP for 2° u 2 bar
ORDER ¥002020

CLAMP for 2° x 27 bar
for hedper spring
ORDER 1032020

CLAMP FOR HEAVY TINE
(45 mm x 12 mm) lor

' x 2" bar

ORDER #1022020

POINT BOLT GRADE 5
10 mem % 36 rm
ORDER #1003800

POINT BOLT GRADE 5
10 mm x 45 men for
hieavy tina

ORDER #1004500

" SWEEPS
200009 4006100
200026 1006000

B&0 mm - 26.007

E Wesght: 4.0 kg - 8.81 s,
8 -
CLAMPS %
200013 1010024 Clamp, 10 x 100mm 1/2" x 2"
200014 1002020 Clamp, 2 x 2 for standard tine
200016 1022020 Clamp, 2 x 2 for heavy 45x12 tine +—
200019 1042525 Clamp, 2-1/2 X 2-1/2 for 45x12 tine
200018 100202 Clamp 12mm 2 x 2 _ DRDF:EEH‘::S%
200017 1043030 Clamp, 3x 3 for 45x12 tine Specifications
12 mem - 472"
48 mem - 1.75
BOLTS 4' 442 mm - 17.407
200011 1003800 Bolt and Nut. 10 x 38 mm ; : B0 ram - 20
200012 1004500 Bolt and Nut, 10 x 45 mm EE ' P
200029 Bolt and Nut, 7/16 x 3/8 x 1-3/4
(g’” B u-imm
PLOW BOLTS GR 5 #3 - w/Nuts
ITEM # SIZE 50 BOX|
209901 3/8x1 PLOW BOLT CLIPPED HEAD — w/Nuts
209902 3/8 x 1-1/4 ITEM #
209903 3/8 x 1-1/2 208063 3/8 x 1-1/4
209904 3/8 x 1-3/4 208065 7/16 x 1-1/4
209905 3/8 x 2 208068 1/2 x 1-1/2
209910 7/16 x 1-1/4
209911 7/16 x 1-1/2 PLOW BOLTS S-TINE SWEEP - With Nuts
209912 7/16 x 1-3/4 ITEM #
209913 7/16 x 2 200011 3/8 x 1-1/2
209914 7/16 x 2-1/4 200012 3/8 x 1-5/8
209915 7/16 x 2-1/2 200029 7/16x 3/8x1-3/4 oversize
209916 7/16 x 3
PLOW BOLTS GR 5 - Oversized head NO Nut
ITEM # SIZE 25 BOX| ITEM # HEAD BODY LENGTH /50 BO
209920 1/2 x 1-1/4 209930 7/16 3/8 1-1/4
209921 1/2 x 1-1/2 $10.20 209931 7/16 3/8 1-1/2
209922 1/2 x 1-3/4 $11.50 209932 7/16 3/8 1-3/4
209923 1/2 x 2 $12.75 209940 1/2 7/16 1-3/4
209924 1/2 x 2-1/4 $13.90 209941 1/2 7/16 2
209925 1/2 x 2-1/2 $ 14.95 209942 1/2 7/16 2-1/4
209926 1/2 x 3 $17.60 209943 1/2 7/16  2-1/2




